N = 0l & At & Ml A

AR gAY SN BYBD
M HIISNHE=SHAAS
Selr HOIS22AX XMl AEEXR (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
gFuag = 694,689,481 722,524,844 A 27,835,363
= 438,082,313
= 128,971,323
J| 5,546,000
= 184,200
< 121,905,645
S$ZE M 60,181,112 53,340,398 6,840,714
= 37,679,400
= 6,627,000
< 15,874,712
HOISHJ=SMAHATRS 31,848,550 16,160,875 15,687,675
= 29,392,500
< 2,456,050
HolS22lX XMl ALEX 31,848,550 16,160,875 15,687,675
= 29,392,500
=) 2,456,050
METH S SHEHES 1,262,000 3,043,000 A 1,781,000
= 1,062,000
< 200,000
403 XIS E X201 H 1,262,000 3,043,000 A 1,781,000
= 1,062,000
< 200,000
01 X SHHN2E = 1,262,000 3,043,000 A 1,781,000
OJMeTtds sdEHES 1,262,000
= 1,062,000
< 200,000
HI 91 201 & Al ZHIALS 2,262,000 8,003,000 25,741,000
= 2,262,000
403 A X EHHS 20l A 2,262,000 8,003,000 25,741,000
= 2,262,000
01 X EHHMA=E L 2,262,000 8,003,000 25,741,000
[JHI?I M0 A& EHI 2,262,000
= 2,262,000
MY IIALAEEXAS 6,578,000 3,201,000 3,377,000
= 6,578,000
403 XM S =0l & 6,578,000 3,201,000 3,377,000
= 6,578,000
01 XM A2E X 6,578,000 3,201,000 3,377,000
OMYIIA2ZAAEAXR 6,578,000
= 6,578,000
FIISH A HH0I It A SHAI A 9,868,000 450,000 9,418,000
= 9,868,000
403 MtXISHHE X201 E 9,868,000 450,000 9,418,000
= 9,868,000
01 AXISHH A2 = 9,868,000 450,000 9,418,000




22 =
PHOISAEEEMATRSE
Hol222l L™ ANEEX (=& J)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
OIS H X2 H0I It A S AIE & X 9,868,000
= 9,868,000
SASMYINISEHIIBAIE RS ALY 465,800 408,000 57,800
= 274,000
< 191,800
403 UtXISHH S0l & 465,800 408,000 57,800
= 274,000
< 191,800
01 XM A=2EE 465,800 408,000 57,800
OSASMUIISEMIIBAIE RS ALY 465,800
= 274,000
< 191,800
SASHIIESSSH2ANE 567,000 0 567,000
= 367,000
< 200,000
403 XIS E X201 & 567,000 0 567,000
= 367,000
= 200,000
01 X HHMA=ZLE X 567,000 0 567,000
OSASFHIISEEHMeAIEEX 567,000
= 367,000
< 200,000
NALHIISE XMl A S X ALY 3,404,000 0 3,404,000
= 3,404,000
403 XSS A=0l& 3,404,000 0 3,404,000
= 3,404,000
01 XM A2E X 3,404,000 0 3,404,000
O SHIISE ™M el A E XA 3,404,000
= 3,404,000
NEHSNBANESLHEIAMNLS 2,392,000 0 2,392,000
= 2,392,000
403 XIS E X201 & 2,392,000 0 2,392,000
= 2,392,000
01 XS M A=2EE 2,392,000 0 2,392,000
ONEHSHNSESELHEXAS 2,392,000
= 2,392,000
SAMERHIISAIASFAIEEX 200,000 0 200,000
403 A X EHHS =0l A 200,000 0 200,000
01 X EHHMA=E L 200,000 0 200,000
SASFHIISASFAIEEX 200,000
ZI=sHHESsHoZEHSXE 701,250 0 701,250
= 412,500
= 288,750




AR BFNYR SN BT
M HIISNHE=SHAAS
©e: HolSZelL™HeAEER (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 701,250 0 701,250
= 412,500
< 288,750
01 X SHMA2E X 701,250 0 701,250
OgsHbE3sSdotE=HSAE 701,250
= 412,500
< 288,750
BEAUEHAAANLEEXAY 2,554,000 0 2,554,000
= 1,954,000
< 600,000
403 MtXISHHE X201 & 2,554,000 0 2,554,000
= 1,954,000
< 600,000
02 SI| 2SO0l CHEHCHEH AH B 2,554,000 0 2,554,000
OZSAUEFAAAEEXAY 2,554,000
= 1,954,000
< 600,000
FEUEEKIIISH AR B0 2L A S E X ALY 500,000 0 500,000
= 500,000
403 A X EHS =0l A 500,000 0 500,000
= 500,000
02 S| 2SO0l CHEHCH & Ar Bl 500,000 0 500,000
OZFSMEERIEH U0l It ASHAE XA 500,000
= 500,000
EAXNGHEBESSNEE2SHI XS 100,000 0 100,000
308 X EH SOl A 100,000 0 100,000
01 HIXNHHNBMNEELES 100,000 0 100,000
OZMXNSHBESSNELE2SH X 100,000
SEHHEAHELSXA 619,000 678,700 A 59,700
= 319,000
< 300,000
308 XXM SOl A 619,000 678,700 A 59,700
= 319,000
< 300,000
01 IXNHHBNEES 619,000 678,700 A 59,700
OsZHH =023 619,000
= 319,000
< 300,000
Hsdg2) I8 BA42Ea3 N (I NHEEXE) 150,000 150,000 0
307 21201 A 150,000 150,000 0
02 B AEXS 150,000 150,000 0
DHs%EJ)ISd24=2E2X& 150,000
Hasssd24sXd 200,000 200,000 0




I EIE SN I
3 OIS =MARS
Cel: HolS2elLMAALER (22 &d)
= _ - 4 &
FRA BB GASA) - MRAY - BES 0f o e HI D52
308 XXM SO0IH 200,000 200,000 0
01 XM BaE2ES 200,000 200,000 0
Ogsssd2dsid 200,000
HOISEMEESLSAM=MAFT Y] 25,500 27,175 A 1,675
201 2er= 4l 17,000 17,600 A600
01 AtR 2t 2l | 15,000 15,600 A600
Oget=24 11,000
OSHABZLXNE AN = 9,000
OMEHSINUXNSEEI2LNERSES=
=4 2,000
Ogxs 4,000
OSZURHIANELEAS S S XL 4,000
02 S3=29Hl 2,000 2,000 0
0222 LAA 2,000
Ost=2HIIEegstl 2,000
202 o4 4,000 4,000 0
01 2U0d b 4,000 4,000 0
OHOISHEEXLSAMEXUINI Ml ERF A 4,000
203 2R =AYl 4,500 5,000 A 500
03 Al =R QR =X Yl 4,500 5,000 500
OME I 2SS ALE T 4,500
oINS I Y 9,949,070 12,968,303 A3,019,233
= 6,741,900
= 3,207,170
ISPAPSEETY Kol g 2,491,970 2,838,103 A 346,133
= 1,633,900
= 858,070
HHNMAXNSIUHES 897,000 1,447,125 550,125
= 690,000
S 207,000
403 XIS S K =0l & 897,000 1,447 125 A550,125
= 690,000
S 207,000
01 XM ItE 2 x 897,000 1,447,125 /550,125
OSENATISHES 897,000
= 690,000
S 207,000
HANANSHASHIX 130,000 370,478 A240,478
= 100,000
< 30,000
308 RXI A SO0l & 130,000 370,478 240,478
= 100,000




AR BHAYR = e
Hu: g DNBHALH
R ANSXNZ2ol3HAS (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 30,000
01 AIKISHHENEXZ 130,000 370,478 AN 240,478
O&HAIINATSHASH XA 130,000
= 100,000
o= 30,000
NS XN 20 3= &R A | 3,000 3,000 0
202 044l 3,000 3,000 0
01 2L Y| 3,000 3,000 0
OXSHMZ2Ha2 I ESHSAIE =& 04 Y 3,000
HIIANsSHESLESHAIRS 1,453,000 1,010,000 443,000
= 837,000
= 616,000
403 XX SHHS K201 & 1,453,000 1,010,000 443,000
= 837,000
& 616,000
01 XIS A2E X 1,453,000 1,010,000 443,000
OdJINSAES 1,301,000
= 685,000
= 616,000
OIS IAHsSEA IS A 152,000
= 152,000
RSHHASHOHPAIAEEZ 8,970 7,500 1,470
= 6,900
o= 2,070
403 XX S M S K201 A 8,970 7,500 1,470
2 6,900
o= 2,070
01 AIXISHHMA2E X 8,970 7,500 1,470
JFREBA2HMOHUHAIAES S 8,970
= 6,900
= 2,070
ESHAASE 2 5,566,800 3,232,200 2,334,600
= 3,757,000
& 1,809,800
EHAXNSUIINE AL 274,800 204,000 70,800
= 229,000
& 45,800
403 XX SHHS K201 A& 274,800 204,000 70,800
= 229,000
== 45,800
01 XIS A2E X 274,800 204,000 70,800
OMsAHUEXAY 274,800
= 229,000
=} 45,800
SHOIE™e XS 5,292,000 2,825,200 2,466,800




AR BHAYR = e
Hu: g DNBHALH
ool gEodsERe (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 3,528,000
=) 1,764,000
403 X SHHS =0l & 5,292,000 2,635,200 2,656,800
= 3,528,000
=) 1,764,000
01 XM A2E X 5,292,000 2,635,200 2,656,800
OSdOIEMA XX SHEAES 5,292,000
= 3,528,000
< 1,764,000
=g E 1,850,300 6,855,000 25,004,700
= 1,351,000
< 499,300
JI=HSHHE A 520,000 5,280,000 A 4,760,000
= 400,000
< 120,000
308 XtXIEHH SOl A 520,000 750,000 230,000
= 400,000
< 120,000
01 AXHHIYEES 520,000 750,000 A230,000
OEAIOENZH 520,000
= 400,000
= 120,000
JRAEESSEM Y IRHES N 340,000 344,000 £4,000
=2 205,000
< 135,000
201 Let24d] 12,000 12,000 0
= 6,000
< 6,000
01 At 22/l 12,000 12,000 0
Oget=2tl 12,000
OJAHEAFEEE 12,000
= 6,000
< 6,000
307 21201 A 168,000 162,000 6,000
= 84,000
< 84,000
02 QIZHEAMNEXS 168,000 162,000 6,000
OOglelfeddd A s 108,000
= 54,000
< 54,000
OJIZHSNEHH2E(T) 60,000
= 30,000
< 30,000
308 MtXIEHSOIH 160,000 170,000 A 10,000
= 115,000
< 45,000




s 2N BEE
UDYRBEATA
PR

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HIXNHHNBHNEES 160,000 170,000 A 10,000
OO ABHEAISEAMNGXR 130,000
= 100,000
< 30,000
OJIZBHSNEHIHSIG (AZ) 30,000
= 15,000
< 15,000
BHIZANEEEASTHEZIOHIA 969,800 484,000 485,800
= 746,000
< 223,800
403 MHXSHHSA=0l& 969,800 484,000 485,800
=2 746,000
< 223,800
01 X ESHMA=LE L 969,800 484,000 485,800
O =ESHASEZZ AN 969,800
= 746,000
< 223,800
ST L FX 20,500 747,000 AT26,500
201 Let24E] 17,000 320,000 A 303,000
01 At 22l 17,000 310,000 A 293,000
Opt=2Hl 5,000
OAxEsEINSHERA 5,000
O=2d=¢ 12,000
O=MEEAS B LS 12,000
202 O4dl 3,500 12,000 A 8,500
01 = LH 4 4l 3,500 12,000 A 8,500
O=sMAdEFEMLE =0 3,500
AT ol = Kl AHY 40,000 43,000 A 3,000
MO 2MESAHX = 40,000 43,000 A 3,000
308 XXM SO0l A 40,000 43,000 A 3,000
01 HIXNHHBNEES 40,000 43,000 A 3,000
OMddIli2MESHXS 40,000
AHEsHABH - 2e2 st 10,817,900 16,486,300 25,668,400
= 1,175,000
= 6,627,000
=) 3,015,900
NHAMEHSRAEH 8,940,100 10,938, 300 A 1,998,200
= 650,000
= 6,627,000
) 1,663,100
St E Y2 LY 650,000 325,000 325,000
= 500,000
< 150,000
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A2,564,700
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H3r
Wikd
RIS
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BN SN BAF
TeBASH - pelY st
DATATHASSAY

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 150,000 150,000 0
01 HIXNHHBHNEELES 150,000 150,000 0
CESE2EHXA 150,000
CEIR2Z 6,000 6,000 0
201 L4l 3,000 3,000 0
01 At 22l 3,000 3,000 0
O=2dg=¢ 3,000
O33R+ 3,000
202 Oddl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
OZE3J2A2LRFAL 3,000
ZAMHEY 2L 20,000 270,000 A 250,000
AL AY 20,000 270,000 A 250,000
307 glz2tol & 20,000 30,000 A 10,000
02 2HFHEXS 20,000 30,000 A 10,000
OEEAZEAMEIZ2IH2AL XS 20,000
MECOAHEAEH 43,000 1,425,000 A 1,382,000
= 25,000
< 18,000
HECIA LG 2| H A A 43,000 55,000 A 12,000
= 25,000
< 18,000
308 XX EHHSOIA 43,000 55,000 A 12,000
= 25,000
= 18,000
01 AXHHILEES 43,000 55,000 212,000
DUSCtetd 2 H A 43,000
= 25,000
< 18,000
OHESAEES 925,300 957,000 A 31,700
= 500,000
< 425,300
OHMEAEES A 2e| 650,000 689,000 239,000
= 500,000
< 150,000
403 A X EHHSH20IA 650,000 689,000 /39,000
= 500,000
< 150,000
01 X ESHHMA=LE L 650,000 689,000 A 39,000
[JOotM == I/ of 0l 2 At 650,000
= 500,000
< 150,000
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400,000
400,000

400,000

16,500
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6,500
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370,000
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= 6,328,000
403 XX S M S K201 A 6,328,000 10, 185,000 N 3,857,000
= 6,328,000
01 MAXHNAESE = 6,328,000 10, 185,000 A 3,857,000
Dol HEA 2 S 4AE 6,328,000
= 6,328,000
o2 HEHIBTLAIE S HE X2 63,933,000 40,623,000 23,310,000
= 63,933,000
403 XXM S K201 A 63,933,000 40,623,000 23,310,000
= 63,933,000




AR ENHE SN 24YD
M BHIZANLE &5
el St Al 2tel (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 63,933,000 40,623,000 23,310,000
o= 2HBTLAIH A U E X = 63,933,000
= 63,933,000
St=Xel =0l E At 18,874,000 29,778,000 210,904,000
= 8,227,000
< 647,000
403 MtXISHE X201 E 18,874,000 29,778,000 A 10,904,000
= 18,227,000
< 647,000
01 XM A2 18,874,000 29,778,000 210,904,000
Oot==XMel=MOol S At 18,874,000
2 18,227,000
< 647,000
St AlZ22 PR RN 28,000 28,000 0
201 Let24d] 16,000 16,000 0
01 At 22l 10,000 10,000 0
Ogst=2tl 5,000
ONRESFLULRA=ZMHS 5,000
O2dsg 5,000
Oct=Z 2| PgRUSAZ L AANSE 5,000
02 2324gl 1,000 1,000 0
O332aYAHA 1,000
O3 a3l 1,000
03 & Ar2 Z I 5,000 5,000 0
Ouot+=EZRAHRATS 5,000
202 O4dl 12,000 12,000 0
01 = LH 4 Hi 12,000 12,000 0
Oot=S A8 222 =80l 12,000
- ZR A2 20,879,000 48,496,000 A 27,617,000
=2 19,195,000
< 1,684,000
HelGt==X el A8 & XIXI& 62,000 176,000 A 114,000
= 62,000
403 MtXISHH S0l & 62,000 176,000 A 114,000
= 62,000
01 AXSHMA=2E X 62,000 176,000 A 114,000
OoHelst=HMelAld 62,000
= 62,000
=SS HEAAEEX ALY 12,246,000 13,377,000 A 1,131,000
= 11,393,000
< 853,000
403 X SHHS X =0l & 12,246,000 13,377,000 1,131,000




I EIE SN 24D
M BHIZANLE &5
©: 25 - 2 XelAlE2el (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 71,393,000
< 853,000
01 AXISHHA=2E = 12,246,000 13,377,000 A 1,131,000
ON=s=2a33HMelAld 12,246,000
= 11,393,000
< 853,000
NEELSSHEANEEXA (RIGSEEH) 8,071,000 33,913,000 A 25,842,000
2 7,740,000
< 331,000
403 XIS E X201 & 8,071,000 33,913,000 A 25,842,000
2 7,740,000
< 331,000
01 X SHHX2E= 8,071,000 33,913,000 A 25,842,000
OJIE2a33HMeAANE(NAHASEHH) 8,071,000
2 7,740,000
= 331,000
SSHEEMNLAY 500,000 900,000 A 400,000
403 XA SA=0l& 500,000 900,000 A 400,000
01 HXESHMA=E X 500,000 900,000 A 400,000
OSSN AE 500,000
dY2HIH(SLS L) 85,650 79,800 5,850
JlE &3l 85,650 79,800 5,850
JlE&l 85,650 79,800 5,850
201 ¢er24| 52,100 58,800 A6,700
01 At 22l 52,100 58,800 A6,700
O et==2H| 42,500
ONRESLASLIZEAES 24,000
OStgsdaEaNaRUS 10,000
OSZHEAMALUNERUS 5,000
OME, &I, EM7H 3,500
[E=3=3:] 9,600
OSWEsEYRFAS A 9,600
202 O4dl 33,550 21,000 12,550
01 = LH 4 di 33,550 21,000 12,550
Ot LGS ALY =X 04| 33,550
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956,631
877,828
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78,596,

780
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H oo Hl
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45,
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558,442
996,955

,407,210
19,

154,277

68,562,

476

A 1,004,034
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>
9
1
0x

Hoog |

43,
,093,615
,407,210
10,

31
2

670,642

169,817

48,088,

167

AN4,417,515

A

33,

,602,954
7,

25

246,641

643,687

36,678,

233

A 3,431,592

403 TtXI M S =01 A

H A

33,

25

246,641

,602,954
7,

643,687

36,678,

233

A 3,431,592

01 AXSHMA=2E X

MEPIEY)

oW

33,

. 246,641

25,
7,

33

246,641

602,954
643,687

36,678,

233

A3,431,592

0
Jo
0z
z

oy

65,883
52,225
13,658

39,

693

26,190

403 X SHHSA=01H

W

65,883

52,225
13,658

39,

693

26,190

01 AXISHHA =22 =

Mo

65,883
65,883

52,225
13,658

39,

693

26,190

SRl

5,882,308
4,674,086

,208,222

1,742,092

308 NHXIEHMSOIE

oy

294,484
235,120
59,364

384,

719

N 90,235

o

o

294,484
292,860
234,000
58,860
1,624
1,120
504

384,

719

A 90,235
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58,350

BN SN M=
MAEFHIE A=
NEPRE Y CER-ED
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
403 UHXSHHSA=0l& 5,587,824 3,755,497 1,832,327
= 4,438,966
< 1,148,858
01 X SHMA2E X 5,587,824 3,755,497 1,832,327
OgssssidE 841,915
= 647,627
< 194,288
O AsdaMIIBtEd 4,745,909
= 3,791,339
= 954,570
MEASAS 470,000 1,100,000 A 630,000
403 MHXIHHSA=0lH 470,000 950,000 480,000
01 X EHHMA=ZLE L 470,000 950,000 A 480,000
O3=SHSAMSZ AL 180,000
OMMSIsSEAY 90,000
OFTAUHI RIS SSHYAMS)AIE XA 200,000
A HIOIQIfAES 789,132 1,022,007 AN 232,875
= 569,850
< 219,282
403 HXSHHSA=0l& 789,132 1,022,007 A 232,875
= 569,850
< 219,282
01 HXSHMA2E X 789,132 1,022,007 AN 232,875
O QIASS 789,132
= 569,850
< 219,282
MYZANASH (BS) 2,598,328 3,952,728 A 1,354,400
2 2,407,210
< 191,118
403 MtXISHHE X201 & 2,598,328 3,952,728 A 1,354,400
& 2,407,210
< 191,118
01 AXSHHMA=2EE 2,598,328 3,952,728 A 1,354,400
Ogcs2ed(EsE5Y) 302,328
& 278,460
< 23,868
O (ZE5Y) 769,500
= 708,750
< 60,750
OsSHestdEgaEz8 (25 5Hl) 1,526,500
= 1,420,000
< 106,500
QHIAHEHES 252,850 399, 100 A 146,250
194,500
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4= pasEI SHMEETD
B aEAAI BRE
ST PRPSPRISE (29 = 2)
= Nz . CHe (S B AlLA HAX HE =
2A-ZH-A(SAH) - HRAY - BES A o HusZ
307 glz2tol & 75,000 111,000 A 36,000
02 RIZHENEXS 75,000 111,000 A 36,000
O RU4SHARE 30,000
ZsadzgEdid 10,000
DYE= AR S 25 15,000
Doeze sl ens 20,000
308 XX EHHSOIA 45,000 100,000 A 55,000
01 HXNHHBHELS 45,000 100,000 A55,000
OREOEHAHHAX A 45,000
POl D& &l A 20,000 20,000 0
201 ¢er24] 20,000 20,000 0
03 A2 Z Hl 20,000 20,000 0
CIako D1 & & A} 20,000
SAIIH A 30,000 30,000 0
307 eI+l & 30,000 30,000 0
04 RIZIHAIE RS 30,000 30,000 0
OUSAII ALK& 30,000
A=A 10,109,075 8,249,280 1,859,795
= 8,577,112
< 1,531,963
N 4,343,823 4,117,308 226,515
= 3,861,131
< 482,692
206 = Hl 4,168,818 3,942,303 226,515
= 3,773,629
< 395,189
01 MHZ 4l 4,168,818 3,942,303 226,515
OXSAMEI=2M 4,168,818
= 3,773,629
< 395,189
401 Al HI R 201 I 175,005 175,005 0
= 87,502
< 87,503
01 A& HI 175,005 175,005 0
O2ussdxd 175,005
= 87,502
< 87,503
(X&) 5,327,398 3,537,751 1,789,647
= 4,390,081
= 937,317
403 MHXISHHE X201 & 5,327,398 3,537,751 1,789,647
= 4,390,081




AR ENHE SH A
Ha: NFFYIIRE
ool MEXRTA EERED
- — — L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
= 937,317
01 XIS A=Z2E X 5,327,398 3,537,751 1,789,647
OXSAtS 5,327,398
= 4,390,081
o= 937,317
ABHAHE RS (X)) 228,670 139,437 89,233
= 175,900
= 52,770
308 MXISHMSOIA 228,670 139,437 89,233
= 175,900
& 52,770
01 IXHHINMNEEXTZ 228,670 139,437 89,233
OArEd B HE &Y 228,670
= 175,900
= 52,770
MNEAAFXE 168,000 313,600 A 145,600
= 150,000
& 18,000
403 XX SHHS K20 & 168,000 313,600 A 145,600
= 150,000
= 18,000
01 IS A2 X 168,000 313,600 A 145,600
Oz goldsadHdAXNH 168,000
= 150,000
=} 18,000
QI Al 22| 41,184 41,184 0
308 XAHXIGH SO0l & 41,184 41,184 0
01 AXHHNIMNEXS 41,184 41,184 0
=222 LIH S 41,184
At THOH O &Y =22 13,778,725 12,225,039 1,553,686
= 6,326,228
= 7,452,497
==L\ RN P 334,375 263,585 70,790
= 133,750
= 200,625
201 et 9,800 8,800 1,000
= 3,920
& 5,880
01 AP 2t 2] H| 9,800 8,800 1,000
Oosgx¢ 6,800
ONMEEESZAIBIRI S 0| 6,800
= 2,720
= 4,080
Do =t 3,000
OMETSXIAIEIZRE 7L 3,000




A= EHHAMEZ 2A A E =X
Hu: NYFYIIBRS
Sl MM ET (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 1,200
& 1,800
206 M = Hl 1,000 1,000 0
= 400
= 600
01 XHZ H| 1,000 1,000 0
OMEXRALAFZHNERY 1,000
= 400
=} 600
207 I & d| 52,000 0 52,000
= 20,800
= 31,200
01 A& | 52,000 0 52,000
ONMEAE R EZANEYE 52,000
= 20,800
& 31,200
307 2Iz2t0| & 271,575 253,785 17,790
= 108,630
o 162,945
05 QIZt9 &2 271,575 253,785 17,790
ORIl nNsgdEH I} 271,575
= 108,630
= 162,945
ASEET 24 (X R) 8,376,202 7,701,755 674,447
= 5,767,578
& 2,608,624
308 XHXIGH SO0l & 6,883,708 5,753,808 1,129,900
= 4,738,272
= 2,145,436
01 AIKISHHENEXZ 6,883,708 5,753,808 1,129,900
Oat= 8 X CH & X & 6,852,248
= 4,725,688
= 2,126,560
OJNMERFIAIEHEAXHA 31,460
= 12,584
& 18,876
403 XX SHHS K20 & 1,492,494 1,947,947 AN 455,453
= 1,029,306
& 463,188
01 XIS AZ2E X 1,492,494 1,947,947 AN 455,453
[JAHS BRI CHEALS 1,492,494
= 1,029,306
= 463,188
AH= 28X CH 2H 4,501,620 3,917,800 583,820
308 MXISHMSOIA 3,975,120 3,502,400 472,720
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4= sFael SN aE=STD
Hu: MPFYIIBRE
Sl MUY R=T CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Ol FHFEI TS HAA 40,000
AZAMEIAZ 02N S Y| 268,738 233,119 35,619
= 268,738
308 XXM SO A 268,738 233,119 35,619
= 268,738
01 XML EES 268,738 233,119 35,619
OAtSl MHI A2 0N A ZHI X & 268,738
= 268,738
AL AL 203,010 0 203,010
= 156,162
= 46,848
308 MXIEHMSOIH 203,010 0 203,010
= 156,162
= 46,848
01 HXNHHNBHELS 203,010 0 203,010
CIAFAFER & & 0l 2 203,010
= 156,162
< 46,848
SES A2 Z LS 5,000 0 5,000
201 ¢er24] 5,000 0 5,000
03 A2 ZHl 5,000 0 5,000
Odts2 2923t u= 5,000
MBSHTEZLESS UL 10,861,430 9,888,328 973,102
= 8,858,494
& 184,200
=) 1,818,736
MY MEHHES 1,716,438 1,742,874 N 26,436
= 1,263,632
& 184,200
< 268,606
HEUAESALS 1,339,438 1,336,556 2,882
= 1,193,632
< 145,806
308 XXM SO0l A 59,590 56,709 2,881
= 59,590
01 HIXNHHBNEES 59,590 56,709 2,881
HEHLASZAZXE 59,590
= 59,590
403 A X EHHS =0l A 1,279,848 1,279,847 1
= 1,134,042
< 145,806
01 X EHHA=LE L 1,279,848 1,279,847 1
OSSR FUASKRAL 1,279,848
= 1,134,042




AR ENHE SN Y=
M NRBAREUSHBATA
S MHMEHES (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
| < 145,806
BN ES A2 307,000 336,318 A29,318
=2 184,200
< 122,800
403 Mt SHHSA=0l& 307,000 336,318 A29,318
=2 184,200
< 122,800
01 HIXSHMA2E X 307,000 336,318 N29,318
B54+221(01Y) 307,000
& 184,200
< 122,800
MEMBSOSLESE 70,000 70,000 0
= 70,000
403 MtXISHH S0l & 70,000 70,000 0
= 70,000
01 XS M A=2EE 70,000 70,000 0
Ot RdaEseEsd el 70,000
= 70,000
METRES 9,144,992 8,145,454 999,538
= 7,594,862
= 1,550,130
Ared i S (XIY) 8,100,306 7,533,516 566,790
= 7,032,482
< 1,067,824
308 XX EHHSOIA 7,953,861 7,400,506 553,355
= 6,919,832
< 1,034,029
01 AXHHILEES 7,953,861 7,400,506 553,355
Ot ol s 2 M 7,953,861
= 6,919,832
=) 1,034,029
403 Ut SHHSA=0l& 146,445 133,010 13,435
= 112,650
< 33,795
01 XM A2E X 146,445 133,010 13,435
Oadgoi s Mo A& 7 146,445
= 112,650
< 33,795
A HH S YA 313,592 377,183 A 63,591
308 XXM SOIA 313,592 257,183 56,409
01 X HHBILEES 313,592 257,183 56,409
Oagdoi 2 S Al 100,000
OMEasH =2 2AHI 93,592
OJdt2sdisEED 120,000




A2 BINEYR SN ST
MY NABAPEUSIDAEAN
ool MENRAES (9 ® =)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
METHHEZLIHE 731,094 234,755 496,339
= 562,380
< 168,714
308 XXX S0 A 731,094 234,755 496,339
= 562,380
< 168,714
01 AXSHBLEELS 731,094 234,755 496,339
O&ETHH 2 LI S ALY 731,094
2 562,380
< 168,714
2 (AE =X ) 136,759 145,976 N9,217
= 22,379
< 114,380
A2l 44,759 47,436 N2,677
= 22,379
< 22,380
ol 2AH| 44,759 47,436 N2,677
= 22,379
< 22,380
101 @124 Hl 44,759 47,436 N2,677
= 22,379
< 22,380
03 RIAHAZZ2TE = 44,759 47,436 N2,677
OWEBZAXEH 44,759
OJdles 44,7503 «2H x250 22,375
= 11,188
< 11,187
o&n= 22,375,000& *1/12%400% 7,459
= 3,729
= 3,730
OFs=+% 44,7503 «2H «52 4,654
= 2,327
< 2,327
OgXt==g 44, 7503 +2H x152 1,343
= 671
< 672
ONE=g 960
- JIEHOEE 20,000 «4H x 128 960
= 480
< 480
(@FNE=3EN . 60,0003 «2H 122 1,440
= 720
S 720
OZFEFItHI 600,000 x2H *23] 2,400
= 1,200
< 1,200
OozZ2s+% 65 «7,000& «2H « 128 1,008
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- i Xt 40,000 *1H « 122 480
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oA ZRLY
42,1803 1.5/8%15A1 2+ x2H x12& 2,848
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OnEY 4,800
- i< Xt 40,0003 «5H x122 2,400
= 1,200
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> A
A & 0l & AF 2 E A A
A2 BINEYR SN MPEFATE S2XR
Hu: MPFYIIBRE
Col: METIRE N (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
MEEZFARAR SRIR 28,082,262 22,528,638 5,553,624
= 12,140,501
= 6,896,255
< 9,045,506
MHIFI|B RS 27,264,613 21,750,234 5,514,379
= 12,140,501
= 6,896,255
< 8,227,857
AENEEA 9,914,054 7,642,850 2,271,204
= 15,848
& 6,896,255
< 3,001,951
MHEIITNEAEY 9,851,787 7,571,467 2,280,320
& 6,896,255
< 2,955,532
201 Let24d] 8,667 8,667 0
= 6,067
< 2,600
01 At 22l 8,667 8,667 0
O=2g8=¢ 8,667
OLCTEIYHEHIIAVTLS(BSSY) 8,667
& 6,067
= 2,600
401 AIEHI L 20 9,843,120 7,562,800 2,280,320
= 6,890,188
= 2,952,932
01 A& HI 9,577,426 7,346,293 2,231,133
OZAE(Z2EEY) 9,577,426
& 6,704,201
< 2,873,225
02 Zteltl 196,862 148,443 48,419
O8N (2ESY) 196,862
& 137,805
< 59,057
03 Al =2 THHI 68,832 68,064 768
OYEANE(ZESY) 68,832
& 48,182
= 20,650
=IOt E S A 22,640 0 22,640
= 15,848
< 6,792
101 14 Hl 22,640 0 22,640
= 15,848
< 6,792
04 DIt Z2XRHEE S 22,640 0 22,640
OMREZIIEBAEFARA(1H) 22,640




A2 BINEYR SN MPEFATE S2XR
Hu: MPFYIIBRE
ool ARTAEH CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 15,848
=) 6,792
ME NI ELYR 39,627 43,383 A 3,756
101 @14 Hl 6,327 4,083 2,244
04 JIZHHZ2XNHEE S 6,327 4,083 2,244
DAY AR YR MRG0l
42,1803 x1HE » 150 6,327
201 Let249y| 9,600 15,600 A 6,000
02 =224l 9,600 9,600 0
PN E=Fal=gs] 9,600
OAEet= X=Xl 9,600
202 04l 13,500 13,500 0
01 S LHOIYI 13,500 13,500 0
OWE N ELdHRFA0N 13,500
203 YR =&l 3,000 3,000 0
03 A Z=XH R =AY 3,000 3,000 0
DM E L2 5T 3,000
204 MR AH| 7,200 7,200 0
03 SEZRFHI 7,200 7,200 0
e sl 50,0003 12 128 7,200
ArETHAH 2R =+ 17,350,559 14,062, 384 3,288,175
= 12,124,653
< 5,225,906
AHE AL 5,548,328 5,300, 100 248,228
= 3,883,830
< 1,664,498
201 2et24d] 2,900 0 2,900
= 2,030
< 870
01 At 2teltl 2,900 0 2,900
O=2g=¢ 2,900
OAMTASEANSANRAEE 2,900
= 2,030
< 870
401 AIEHI L 201 5,545,428 5,300, 100 245,328
= 3,881,800
= 1,663,628
01 A& HI 5,398,669 5,149,880 248,789
CIARZ AL 5,398,669
= 3,779,069
=) 1,619,600
02 Zeltl 108,580 103,600 4,980




M ox
40 5 4
[ Py

=
eI
Sp TS

SN - FE - B(EA) - HRAL Ol &+ o4 SSa HlmE2
CIAFEALS 108,580
= 76,006
< 32,574
03 A& 2 THHI 38,179 46,620 A8,441
CTAFE AL 38,179
= 26,725
< 11,454
YT e 11,772,604 8,722,901 3,049,703
= 8,240,823
< 3,531,781
201 £B-2dH| 4,600 0 4,600
= 3,220
< 1,380
01 At 22/l 4,600 0 4,600
O2d==g 4,600
OAZ & 2| & H A & 4,600
= 3,220
< 1,380
401 Al & HI & 2 08I 11,768,004 8,722,901 3,045,103
2 8,237,603
< 3,530,401
01 A& tI 11,455,209 8,474,697 2,980,512
OArdE g 22 11,455,209
= 8,018,647
< 3,436,562
02 Zeltl 231,540 171,175 60,365
DA 4 22 231,540
= 162,078
< 69,462
03 AIE 2 0HHI 81,255 77,029 4,226
OAr g 22 81,255
= 56,878
< 24,377
FEMOHM YR ER SR 29,627 39,383 N9Q,756
101 124 dl 6,327 4,083 2,244
04 JI2ZHHZ2XREES 6,327 4,083 2,244
OAZAMEHEECAEY 42,1803 x1H 150 6,327
201 2et24d] 9,800 21,800 A 12,000
01 At 22l 200 12,200 212,000
[J2et=ZH| 200
OE3dsEHl 200
02 =224l 9,600 9,600 0
[ Xt& e 2hh| 9,600
OtU=dHsE R X 9,600




A3 BFAYR SN AYEZRE 22T
Ha: NFFYIIRE
Sl MY U= (B9 ®R)
.24 B GH(3AH) - KR - BES of 4 o4 il HI RS2
202 o4 4 13,500 13,500 0
01 =L 13,500 13,500 0
O Mol gH=EFERFE04] 13,500
BHSYHY (MY ATY 22X ) 817,649 778,404 39,245
el 2l 757,781 722,833 34,948
eI =gl 757,781 722,833 34,948
101 @124 8] 734,141 697,753 36,388
01 2=+ 653,326 620, 149 33,177
oJl=a 490,268
O==H 439,927
-53 (308 8) 3,976,100 x1& »12& 47,714
-6=(2558) 3,314,800 »4E »12& 169,111
721188 2,288,700 «6& 128 164,787
-J156=2(3288) 3,516,500 x1¥ ~128 42,198
-J1s8=2(1385) 2,176,400 » 18 =128 26,117
od=2=+¥¢ 439,927,000& *1/12%50%*23] 36,661
O&2=gtt= 13,680
- 258014 130,000& x4 « 122 6,240
- 20 0l &f25E 0 2* 110,000& »2& x 122 2,640
- 158 0l 420 O] & 80,000 1 +12& 960
- 1080148154 01 2+ 60,0002 «2H «12& 1,440
- 540[&a10& 012t 50,0002 4 123 2,400
o= 78,817
Odol=¢ 3,262
-HRsRE+E 3,262
S58U< 3,314,800& #4 . 19%+x2H x 128 3,262
ONAEE=E 15,196
-tEsE 11,520
B < Xt 40,0003 «13H 128 6,240
- JIEHOHS 20,000 x18 122 4,320
Jtet=2 80,000 1 «12& 960
- NHESHIEXE S 3,676
nsstu 459,500 »2&H x43] 3,676
OS=27=+H 7,440
-S2d2Rg0le82+H) 7,440
- 58 50,000 ~1H «12& 600
6=~72 30,000 «9H «12& 3,240
- 85 0lct 20,000 1 «12& 240
IS OISE - A
30,0002 x9& 123 3,240
Hus(28F) 10,0003 x1& ~ 122 120




A2 gFNER SAdEsAATE 22X
Ha: BHSYAH (MYHIARY SRA)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OzxzU2R+HS 52,919
-AZE 2R 52,919
HHZ 9,692& x10Al 2tx13H x12& 15,120
= 9,692 x25A| 2tx13H x12& 37,799
O™ HZAH| 130,000& »13H x12& 20,280
OY&E 50| 439,927,000 *1/12%60%*23| 43,993
OS2 At
439,927,000 *1/12%86%*1/30%x 19! 19,968
03 2IAHALZZXHE = 80,815 77,604 3,211
ONEHES2ZAIA 80,815
(OPIE=3=| 44 7503 *3H 250! 33,563
oan=2 33,563,000 x1/12%400% 11,188
OxFs=2¢ 44 750 *3Y x52F 6,981
Od X< 44 7503 x3H x 17 2,283
ozs2¢ 140,000& = 12& 1,680
OiIEx=Y 1,680
- B 2 Xt 40,000& »2H x12& 960
- JIEHHS 20,0003 x3H ~12& 720
Ons:2xyl 60,0003 »3H x12& 2,160
OY &=t 600,000& *3H *23| 3,600
OFHZAH| 130, 000& 3 x12& 4,680
ONtelES =2 0Hl 20,0008 *3H 102 x12& 7,200
Ol =t 200,000& »3H 600
OB AR EE 5,200
204 &R 4 23,640 23,640 0
02 &2 xH 23,640 23,640 0
052 250,000@ x1H ~12& 3,000
6= 155,000& x5 128 9,300
o722 140,000& x6H ~12& 10,080
[J8- 92 105,000& x1H ~12& 1,260
| 22Z& bl 59,868 55,571 4,297
JlE23Hl 59,868 55,571 4,297
201 Bt A | 38,948 37,951 997
01 AtR 22l bl 27,600 27,572 28
Odget=gH| 21,100
OSANSANLAIRSE R 2] 8,000
OFBNLNER=EZS 2,000
ONEETzSHES 1,100
OEHSARHEEZEFY 5,000
OAdELANLY=EESMES 3,000
OXNZLEINANOMNLROIZH & 2,000
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A2 BINEYR SN MPEBATE NRXR
Hu: MPFYIIBRE
ool ARTAEH CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 1,300
401 A& HIZ 201 I 8,161,043 6,748,729 1,412,314
& 5,712,728
< 2,448,315
01 A& HI 7,940,696 6,555,573 1,385,123
DY Mg (Z2ESY) 7,940,696
=1 5,558,487
< 2,382,209
02 Zeltl 163,220 132,418 30,802
OYE MY (ZESY) 163,220
& 114,254
< 48,966
03 Al 2 THHI 57,127 60,738 A 3,611
OdE Mg (Z2ESY) 57,127
& 39,987
< 17,140
MEVIZLYR 39,518 48,588 A9,070
101 14l 4,218 4,083 135
04 JIAHIERSE S 4,218 4,083 135
WSR3 -EIEE R
2,180 «1H«102 «103] 4,218
202 044l 13,800 13,800 0
01 = LH o4 1l 13,800 13,800 0
O AIEAME =0 13,800
203 ¥ S =&l 3,000 3,000 0
03 A=A H 2 =AH| 3,000 3,000 0
O AEHRFEH 3,000
204 AR A H| 7,200 7,200 0
03 EZYRFH 7,200 7,200 0
O sl 7,200
401 AIEHI L 2 CHYI 11,300 10,505 795
01 Al& 11,300 10,505 795
DERA=I| 11,300
OLEFHEHILE2=SHA 8,000
O deld=s+El 3,300
MAUBUY=MBATY 1,728,000 1,920,000 192,000
& 864,000
< 864,000
401 AIEHI L 201 1,728,000 1,920,000 A 192,000
= 864,000
< 864,000
01 A& Bl 1,722,000 1,874,000 A 152,000




A3 sAMYR SA ARBSEATY AKX
Ha: NFFYIIRE
ool MEXRTA EERED
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OXNXNMAASS TS (ZETH]) 1,722,000
2 861,000
o= 861,000
03 A& E2HH]| 6,000 6,000 0
OXNXNMAHSSTLA(ZETH]) 6,000
2 3,000
= 3,000
HAILAIE 222 22,000 10,000 12,000
401 Al B 20 HI 22,000 10,000 12,000
01 Al&H| 22,000 10,000 12,000
OFANSAMHIE US43 A} 22,000
ANAS U AL 22 103,773 0 103,773
101 2124 d| 7,593 0 7,593
04 JI2ZtHIZ22XNSE S 7,593 0 7,593
mp R=E-TETPNE PREE XY
42,1803 x2% 90 Y 7,593
201 et A bl 10,800 0 10,800
02 3524t 10,800 0 10,800
O&JI=8 10,800
405 XHo&HF S HI 85,380 0 85,380
01 JHAY 2 Z F S H 85,380 0 85,380
OIS AEANE2ISEFY 85,380
OTv(21tH) 25,200
OWZN(210H) 16,800
OHMIE DI (2TH) 1,000
O® D erE(190h) 1,900
OMel2HEHLY2UH (20H) 3,000
O&E3II(21TH) 630
Oz AH(40H) 1,000
OgloldHol=(2oH) 1,000
OAlEH(2DH) 600
OT Ol A'S] XH(200H) 6,000
OCSHAH(2IH) 600
OMBIX (79H) 2,100
OAlDIZ(194) 2,850
Ool2&s(19al) 12,000
OAHE(194) 8,700
OJIEtAREE 2,000
S IOtAME S H 22,640 0 22,640
= 15,848
= 6,792




A2 BINEYR SN MPEBATE NRXR
Hu: MPFYIIBRE
Col: METIRE N (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
101 14 Hl 22,640 0 22,640
= 15,848
& 6,792
04 JIZHHZ22XREES 22,640 0 22,640
OAMNSEZIEHEBAEURY 22,640
= 15,848
< 6,792
A THHME =2 17,762,077 14,959,575 2,802,502
= 12,419,039
=) 5,343,038
A AR 5,804,016 6,335,350 A 531,334
= 4,062,811
=) 1,741,205
201 et 5,000 0 5,000
= 3,500
< 1,500
01 At 22l 5,000 0 5,000
O=2g=¢ 5,000
OEHEMRARSTHS 5,000
= 3,500
< 1,500
401 A& HIZ 201 Y] 5,799,016 6,335,350 A 536,334
= 4,059,311
=) 1,739,705
01 A& HI 5,645,344 6,155,260 A 509,916
COALEE AL 5,645,344
= 3,951,741
< 1,693,603
02 Zeltl 113,044 124,200 A 11,156
CIARZ AL 113,044
= 79,131
< 33,913
03 Al SR THHI 40,628 55,890 N 15,262
CIARZE AL 40,628
= 28,439
< 12,189
METHHM LR =R SR 20,593 76,850 A 56,257
101 @124l 7,593 7,350 243
04 D12t 22 HEE =+ 7,593 7,350 243
OASEAMEHEE RS
42,1802 1 H 52 x 102 2,109
OAMZAMIEAHEZRY  42,180F x1H 130 5,484
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OIEx=Y 1,440
- B 2 Xt 40,000& »2H x12& 960
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